Chem 331, PS #6 Name
due Wed, Oct 23, 2001

1) Provide a mechanism

OH
=

HBr

2) Which reaction is faster (A or B)? Why?

A Ho HBr Br B O( HBr O(
X X on o

3) Which reaction is faster (A or B)? Why?

B Et Et
A HBr HBr
 — Et Et
HO Br HO Br

4) Provide a detailed explanation

Br NaOtBu :‘: but @Br NaOtBu

5) Draw the product of the following reaction. Explain your assignment and provide a mechanism.

NaOtBu O *3C NMR: 'H NMR:
tBu—<:> OAc 12M20Y2 21.4 (q) 0.90 (s, 9H)
2 22.6 (1) 1.40 (m, 1H)
OAc 28.9 (t) 1.85 (m, 2H)
29.2 (q, 3 carbons) 2.10 (s, 3H)
32.9(s) 2.15 (m, 2H)
45.9 (d) 5.25 (m, 1H)
70.5 (d) 5.60 (m, 1H)
128.1 (d) 5.80 (m, 1H)
133.0 (d)

170.9 (s)



